Horizontal Panel

Interior Finish

Rigid Wall Panel

HJ

|
\
\
\
\

i Membrane Strip over Base Trim and Fastener

. / Water and Air Resistive Barrier

- Insulation
]

1/2" Plywood (min.)
Starter Cleat

#10 x 1" Wafer Head Screw

Base Trim

I 11/4"
x 11/4"
3" x
K1 } & .
I /< 3/4
} 1/2" MCA995 - Starter Cleat
1 /zu
. ATAS INTERNATIONAL, INC
MCA661 - Base Trim Hlentoun pA
A \ » 488/-':;?332210
T Rigid Wall Base Detail
DWG. NO. DR DMR DATE 7/1/2016
MATERTAL "P pas [PATE 7/25/16
T\‘E(\)/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Horizontal Panel

- . . - - - - - - - - - - - - - - - - I__-Z““ZZZZ—ZZZZ‘“Z“ ::g::::::::,:::::::::::::::::::::::
Interior Finish
#10 x 1" Wafer Head ?crei/v :
nsulation

1/2" Plywood (min.)
Water and Air Resistive Barrier
Membrane Strip over J Channel and Angle Trim

Rigid Wall Panel
Angle Trjim
J Chann%
Backer Rod and Sea

I
ant

T1 3/4" -

}
1/4" CH.—~ % 11/8"

X

7/8"
MCA118 - J Channel

r1 5/8" =

* f
1"
o

MCA680 - Angle Trim

Allentown PA
610-395-8445

\ "‘\ - Mesa AZ
\ > 480-558-7210

ATAS INTERNATIONAL, INC

TITLE . .
Rigid Wall Endwall Detail
DWG. NO. DR DMR DATE 7/1/2016
MATERIAL " pas " 7/25/16
T\‘E(\)/ DATE DESCRIPTION OF REVISION BY | APP SH. SIze B SCALE X:X




Horizontal Panel

Water and Air Resistive Barrier

Membrane Strip over Head Trim and Fastener

Insulation

Support Z

Painted Pop Rivet (24" 0.C. Max.)
Rigid Wall Panel

#10 x 1" Wafer Head Screw

Interior Finish

i Head Angle Trim
el Head Trim
i / Painted Pop Rivet

PO
g H /Window
 /
12" wH L 414 '
. e T
/ MCA690 - Head Angle Trim

11/4"
X
3"
J " 9o
\
1/2" O.H. j
—

+—

MCA550 - Head Trim

o P
-

MCA681 - Support Z

h) \ Allentown PA
BN\ 610-395-8445
\\ \\\ Mesa AZ

480-558-7210

ATAS INTERNATIONAL, INC

TITLE . . .
Rigid Wall Head Detail
DWG. NO. DR MR DATE 71112016
MATERTAL " bas [PAE 7/25/16
Ry|  Date DESCRIPTION OF REVISION BY | APP SHSIZE B |SAE wx




Horizontal Panel

I Insulation
Rigid Wall Panel

1/2" Plywood (min.)

Support Z

S.S. Painted Pop Rivet
24" 0.C.
Membrane Strip

#10 x 1" Wafer Head Screw

Head Trim

Water and Air Resistive Barrier
11/4"

Trim Board

Z Closure
11/8"
Backer Rod and Sealant *

e
/ e Window 3" o

|
T w] ~—_
e 1 92° 3/4"
& \ .
3/4"
» . |
2 1/2"OH. | o Head Support Z
. T -
]';' ﬁ ﬂ ATAS INTERNATIONAL, INC
Allentown PA
i . 610-395-8445
1 Head Trim RELH
** Rigid Wall Existing Head Window Detail
DWG. NO. DR DMR DATE 1/2/2019
Note: * denotes color side. Support Z MRTERTL il PTE
T\]E(;/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Horizontal Panel

Insulation
! -

AT - Plywood Substrate

u—// Water and Air Resistive Barrier
| \/Rigid Wall Panel
e

Trim Board

Ring Shank Nail 11/4"
3/4"
Base Trim
*
— — 1;[

. Window 3" 14

e 4 —t

77 f%/\ MCA681 - Support Z

1/2" 1/2"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ

MCA661 - Base Trim

480-558-7210

"Rigid Wall Head Window Flange Detail

DWG. NO. DR DATE

DMR 1/7/2019
Note: * denotes color side. WATERGAL

APP DATE
REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




Horizontal Panel

\ /
\ N/
/\/\/\/\/\/ o
NSNS NSNS NN SN
\ / \ S \ S \ \ \

NS00S0 NN!
// \\ // \\

Y
A
/\

\
\
\
\

///\ i /Inside Corner Post
i #10 x 1" Wafer Head Screw

Insulation
Rigid Wall Panel

\ e
/

//

//

>

~
AA

\ // \\

\\/ \\

b

Underlayment

— | 1/2" Plywood (min)
_— o R Interior Finish
T~ |
I
§e /Water and Air Resistive Barrier

AVARvVanvanve
\\ /
\\\ //
\/
A

MCA601 - Inside Corner Post

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

Rigid Wall Inside Corner Detail

TITLE
DWG. NO. DR DATE
MBP 7/1/2016
APP DATE
MATERIAL DAS 7/25/16
REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X:X




Horizontal Panel

1/2" W.H.

AR

31/2"

MCA683 - Angle Trim With Return

Angle Trim With Return

Backer Rod and Sealant
Angle Trim
J Channel

#10 x 1" Wafer Head Screw
Membrane Strip over J Channel and Angle Trim

Water and Air Resistive Barrier
Interior Finish
1/2" Plywood (min.)

Insulation
Rigid Wall Panel kl 5/8"ﬂ
x| A
1"
v

MCA680 - Angle Trim

ﬁ 13/4" ~

14" CH. = |- 118
Il

DU

MCA118 - J Channel

h) \ Allentown PA
BN\ 610-395-8445
\\ \\\ Mesa AZ

480-558-7210

ATAS INTERNATIONAL, INC

TITLE

Rigid Wall Jamb Detail

DWG. NO.

DR
MBP

DATI

®7/5/2016

APP DAS

REV.

NO DATE DESCRIPTION OF REVISION BY

APP

MATERIAL

PATE 7/25/16

SH. SIZE B

SCALE

X:X




Vertical Panel

V
J H
2 4 | ,
- - - - - - - - - - ”“”-~”“”“”“"”""“"”"“"”"”""”"ZrZZZZZZzzZzzZZz—‘z-‘Zz-t¢- ‘@\ } . /
i:ii:::::i:j:::::ji:::::ii:::::i:;:::::ji::’:::,7:::7::::i::::::A i;i N{\
= L I *: Window
. N > \ Backer Rod and Sealant
Angle Trim
J Channel
#10 x 1" Wafer Head Screw
Membrane Strip
Water and Air Resistive Barrier
Plywood Substrate
Insulation
Support Z
S.S. Painted Pop Rivet
24" O.C.
Rigid Wall Panel
T 15/8"~]
ﬁ } 1 1*/8
1/4" C.H. "
k3
Tl 5/8"’ Ll"»
1" -
T ; J Channel
b 3
1" T ATAS INLFeitNoeVT\IS/i\‘AL’ INC
. N, 6103958445
3/ J Angle Trim N s
=1 ""Rigid Wall Jamb Existing Wall Detail
DWG. NO. DR DMR DATE 1/8/2019
Note: * denotes color side. Support Z FTERAC S
?IE(;/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Horizontal Panel

Note: * denotes color side.

\Window

Ring Shank Nail

Angle Trim

Backer Rod and Sealant

#10 x 1" Wafer Head Screw

J Channel

Water and Air Resistive Barrier

Plywood Substrate

Tl 3/4" -~

Rigid Wall Panel
% 11/8"
1/4" C.H.—=
_ '
b 3
15/8" =
T / 7/8" —
I MCA118 - J Channel
.
ATAS INTERNATIONAL, INC
Allentown PA
MCA680 - Angle Trim NN\ s
u! \ 480-558-7210
Rigid Wall Jamb Window Flange Detail
DWG. NO. DR DMR DATE 1/8/2019
T\]E(;l DATE DESCRIPTION OF REVISION BY | APP - SH. SIze B SCALE X:X




Horizontal Panel - Alternate

1/2" W.H.

AR

31/2"

MCA683 - Angle Trim With Return

Window

Backer Rod and Sealant

Angle Trim With Return
Angle Trim

#10 x 1" Wafer Head Screw
Snap J Channel

Membrane Strip Over Snap J Channel
Rigid Wall Panel

Insulation

1/2" Plywood (min.)

Interior Finish

Water and Air Resistive Barrier

k 1 5/8"ﬂ

*

!
1"
o

MCA680 - Angle Trim

1 1*/8"
0=

MCA119 - Snap ] Base

1/2"C.H.ﬂ h 4
— |
o

13/16" 3/8"
UNSOQ7/8 - Snap J Cover

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445
"\ - Mesa AZ

> 480-558-7210

"™ Rigid Wall Jamb Alt Detail

DWG. NO. DR MBP DATE 7/5/2016

DESCRIPTION OF REVISION

MATERIAL

AP Das |PATE 7/25/16

SH. SIZE B SCALE X_X




Horizontal Panel

/

NEANY/

|

/
//
A A :

\/ \/ \/ \/ \/ \/

/\/\/\/\/\/

W AAL AL A,

AW

T
3

Interior Finish

Insulation

1/2" Plywood (min.)

Water and Air Resistive Barrier

Rigid Wall Panel

Membrane Strip over Outside Corner Post

#10 x 1" Wafer Head Screw

Outside Corner Post

% 23/4"—~

1 1*/8"
i I

4"

1 1/2"—j——~

MCA602 - Outside Corner Post

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

Rigid WaII OutS|de Corner Detail

TITLE
DWG. NO. DR DATE
MBP 7/5/2016
APP DATE
MATERIAL DAS 7/25/16
REV. SH. SIZE SCALE N
NO. DATE DESCRIPTION OF REVISION BY | APP B X:X




1/8" to 1/4" Gap
(as required by panel length/gauge)

Note: do NOT fasten panels together to
allow for thermal movement.

L4Field Notch Leg Back 2"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

\ - Mesa AZ

VY 480-558-7210

Field Notch Leg Back 2"

TITLE

Rigid Wall Panel Lap Detail

DWG. NO. DR DATE
KRK 12/22/2016

APP DATE

MATERIAL

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




16"

7/8"

1 5/8'#

10 x 1" Wafer Head Screw

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, L N[ N /[ N NN [ N [ N [ N e N [ N [ N [ N o
t;ZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZSZZZZZZZZZZZZZZZZZgZZZZZZZZZZZZiZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZ?%_ZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZg;;ZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZj

N

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE

Wall Panel Detail

Rigid
DETAIL A oo e " omr 7 77572016
MATERIAL AP pas  [PATE 7/26/16
T\‘%’.' DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE - w: X




Rigid Wall Panel

1/8" to 1/4" Gap
(as required by panel length/gauge)

Appropriate Sealant

Splice Plate

Painted Pop Rivets - attach on upward facing rib

(attach pop rivets on one side only to allow for thermal movement of Panels)

Allentown PA

610-395-8445

\ - Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

TITLE

Rigid Wall Panel Splice Detail

DWG. NO.

DR
KRK

P/22/2016

APP

REV.
NO.

DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

DATE

SH. SIZE B

SCALE X:X




Horizontal Panel

Coping System (Rapid-Lok Coping System)
/ Wood Nailer
/ J Closure
/#10 x 1" Wafer Head Screw

Insulation

Interior Finish

Water and Air Resistive Barrier

1/2" Plywood (min.)

11/8"
b3
13/4" 1
7/8"

MCA270 - J Closure

1"
'
I
1"
3/4" ;

MCA681 - Support Z

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

TITLE

DWG. NO. DR

MBP

DATI

®7/5/2016

APP
MATERIAL DAS

REV.
NO.

DATE DESCRIPTION OF REVISION

BY

APP

PATE 7/25/16

SH. SIZE B

SCRE 3.y




Horizontal Panel

: ’ Window
g Backer Rod with Sealant

]

5 Window Sill Trim

e

J Closure
—— | | #10 x 1" Wafer Head Screw

z i
b [N \H Support Z

Painted Pop Rivet (24" 0.C. Max.)

;J

i 1/2" Plywood (min.)

o Water and Air Resistive Barrier

Insulation

Interior Finish

| )/vh3 3/4"ﬂ‘ 1"~
1/2" W.H. T
I

| 1/2" O.H. . o

g

/ 3/4" 11/8" L l
o _ H B T * b
,, ,‘ | 13/4" 1 MCA670 - Window Sill Trim
f 1 7/8"
I 1" g ATAS INTERNATIONAL, INC
” E S

Mesa AZ
480-558-7210

MCA270 - ] Closure

gl 1"

| MCA681 - Support Z " Rigid Wall Window Sill Detail
H DWG. NO. DR MBP DATE 7/5/2016
MATERIAL i DAS DATE 7/25/16
Ry|  Date DESCRIPTION OF REVISION BY | APP SHSIZE B |SAE wx




Horizontal Panel

Window

Backer Rod with Sealant

J Closure
/#10 x 1" Wafer Head Screw

| Support Z

Painted Pop Rivet (24" 0.C. Max.)

[
[
[
[
[
!
iy
\
[

i 1/2" PIYWOOCI (m|n)

o Water and Air Resistive Barrier

i /Interior Finish
Il H‘
T

Note: * denotes color side.

3/4"

}
i

v
MCA681 - Support Z

7/8"

-

D een

MCA270 - ] Closure

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445
Mesa AZ
480-558-7210

D.
MBP

DESCRIPTION OF REVISION

DAS

SH. SIZE B




S.S. Painted Pop Rivet
24" 0.C.

Support Z

N

Insulation

Rigid Wall Panel

Plywood Substrate

ATA-Guard

Trim Board

#10 x 1" Wafer Head Screw

Ring Shank Nail

J Channel

Angle Trim

Backer Rod and Sealant

- 3/4" =

1"

I

n

1"

i

MCA681 - Support Z

S

MCA680 - Angle Trim

o

15/8"
T

3/4"

i
E——

MCA118 - J Channel

—

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

DR DATE

JAC 8/1/2018

APP DATE

REV.

NO DATE DESCRIPTION OF REVISION

BY

APP

MATERIAL

SH. SIZE B SCALE

X:X






